


b S
/L é (\8<\' fs/mwd;visi,.
6 S




T KAG% /rle
(o)
— (o) Q._,\"\'CK.S\&UA\MA
N‘RT i? W g
~ 0,35 Nz + O Ner | feels 4
_ 0,05 NT(.“& + 0,4 N(U)
(1) o:%g 0/ ()
- _ N
Q,0® 0,?5
\/\/} “



eniplige wad wuaEbegn Hage (Nam )’N‘“
etyalavge Praga ktege Jooope (+ werde 2- b'a:Ln-%)
T &c’\bv&j& Rege Lt egu 8“43& (e @etbe-)
N/\lw) NAM N ’(Le>

_ N/lle)

N
[£+4) B 7 1 N (t)
N L, .

(E+4)



@/r‘ﬁ—d-c,é"e,rt Mo Jbu

AOU/() )zf (Z*S&'Lh’}\ ‘_\-a_&,\ %UJ,\_ 3}04‘4. alé:

N
.Na:)¢ (Né"’)

Nsw

570 ch H’u&a—\ 5&‘({‘::{\ Con /\,/(S.\Lr‘
N lEM)_: NALk) L NU:) . Ng,)

A 7
NZ — C),"i«g NAU:)
(£+4)

I\)g = O//f NZ

w (A4
G Q”M L o> 0
6 94 O

{

(_154—4)



W, = lul] cos
A, = o] stuw
U, = Nwl| cos P+ A

-_-.\\_u—t\ cos Y et — [l sud sl

— ('}05‘"?-{14— Slk“(’°tA,L

Us, = lall gl (4 «)
= \_\x_xﬁslu‘e cos o+ \\ull Cos ™ Swol

= AWy - u, + CQS‘\-P.U.Z- —
—su4 N

~ U7 coSY o,
v SES AN - COS“-?> u\J









A-= 0 A+ 0

[
Avna e+ A Lok Tavwse  A'A=T
AQ:_—— v O Leudig WY A—/\

= x'at=0 = N (AK)=0
= (AA)A =0 = ThA=0 =DA=0

1



